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% MuHHCTEPCTBO HAYKH ',
U BbIcuIero oopazosanusi P@® //
NEw s PI'BOY BO «<HRY «MIWN» [/| A AO
HHCTUTYT JUCTAHLHOHHOI'O

U JOIMOJIHUTEJIBHOI'0 06p330BaHI/ISI

OIEHOYHBIE U METOAUYECKHUE MATEPHAJIBI 1JI1 KOHTPOJIA
OCBOEHMA PE3YJIBTATOB OBYUYEHUA

JNOMOJHUTEJIBbHOM OBPA30BATEJIBHOM ITPOI' PAMMBI

nosvlueHus Keanupukayuu
«AHnenuiicKuil A361K 071 AKAOEMUYECKUX U HAYUHBIX Uellell 0714 CReyualiucmog ¢ odbnacmu
UHGOPpMaAUUOHHBIX MeXHOoN02Ull U agmomamusayuu 1 wacmo (cpednuil yposens)»,

Texkymmii KOHTPOJIb
Texymuii KOHTPOJIb TPOBOAMTCS B COOTBETCTBUU C XapPAKTEPUCTUKAMH KOHTPOJIBHBIX
3aJIaHKMK U TIpecTaBiIcH B Ta0i. 1.

Tabmauua 1
XapaKkTepUCTHUKA 3aJaHUH TEKYIIEr0 KOHTPOJIA
Haumenoanue ®opma [Tpumep 3amanus Kpurepun
JACIIUTIIIUHBI KOHTPOJIs1/ OLICHKH
(Momyms) HaWMCHOBaHHE
KOHTPOJIbHOU
TOYKHU

AHTIMACKUAN SI3BIK JJIS aKaJIeMHUYECKUX M HAYUHBIX I1EJIeH IS CIISIUaTUCTOB B 00JIaCTH
MH(OPMAIIMOHHBIX TEXHOJIOTUI 1 aBTOMaTH3auu 1 4acTh (CpeHuil ypoBeHb)

Crpykrypa TectupoBanue Onpe?eﬂume cKazyemoe Oyenxa:

sI3bIKA (Predicate) ¢ cnedyrouwjux 3A9TEHO
npeonodcenuAx u nepegeoume Onucanue
IMU NPEONOHCeHUA: Xapaxmepucmux

U 8bINOJIHEHUA

1. Principles described explained
the operation of a.c. motors anans: Quertia

P e o "3a4TeHO0"
2. The development of the thyristor | gpicrasnsercs
results in a new boost to static ecIi 3a71aHue
methods. BBITIOJTHEHO
3. The output voltage waveforms gpaB“m’Ho i
approximate cl_osely toasinewave. | o oqurempim
4. This results in rapid motor MH HEZIOUSTaMH.
deceleration by returning the '

. Oyenka: He

energy of the rotating parts to the SAUTEHO
a.c. supply. Onucanue
5. Changing the phase sequence of | xapaxmepucmux
the supply voltage reversed a three- | % ‘fbmoﬂfg*’"ﬂ
phase a.c. motor. f’;‘é’;’;’;ﬁ;ﬁ,}“‘a
6. This technique employed forced

. A N BBICTABJIACTCA
the current in a conducting thyristor | ecim sananue ne




to zero.

7. The reduced turn-off time
permits a significant reduction in
the auxiliary apparatus necessary to
achieve forced commutation.

8. The relations explained
determined some important results.
9. The collision of electrons with a
plate results in heat.

10. Evaporating advances if we
raise the temperature of water.

11. This forces a body to move in a
definite direction.

12. The charged particles often pick
up speed.

13. These factors hold for other
cases too.

14. Adding more turns makes the
magnetic field stronger.

15. This results in a further
reduction in weight.

16. On being heated these salts
decompose.

17. The experimental evidence
supported the predicted properties
of the new elements.

18. Pass a current through a coil
and it turns.

19. Explain why the charged
particles often pick up speed.

20. As the saying goes there is no
royal road to knowledge.

BBITIOJIHEHO B
OTBEECHHBIHN
CPOK I
pe3yibTaT He
COOTBETCTBYET
3aTaHHIO

Jlekcuko-
CEMaHTHYECKH
€ 0COOCHHOCTHU
HTJI

TecTtupoBanue

Match the words (1-7) with their
definitions (a-g).

1. ounce

2. metric
3. Celsius
4. imperial
5. heatenergy
6.  work
7. conservation of energy
8. Kkinetic energy

9. potential energy

10. __ chemical energy

11. _ kilogram

12.  centimeter

13. __ Fahrenheit

14.  Kelvin

a. a system of measurement based
on meters and grams

Oyenka:
3a4TEHO
Onucanue
xapaxmepucmux
U 6bINOJIHEeHUS
suanus. OLeHKa
"3auTeHo"
BBICTABIIAECTCS
€CJIN 3aJjaHK1E
BBIIIOJIHEHO
MPAaBHIIBHO WU
c
HE3HAYUTEILHEI
MU HEJ0YETAMH.

Oyenka: He
3a4TEHO
Onucanue
Xapakmepucmux
U BbINOIHEHUS.
snanus: OueHka
"He 3a4TeHO"




b. a temperature scale in which
water boils at 212 degrees

c. to keep constant through physical
or chemical reactions

d. a temperature system in which
water freezes at zero degrees

e. energy which is stored, ready to
be released

f. a system of measurement based
on feet and pounds

g. a unit equal to one sixteenth of a
pound

h. an action or movement produced
by kinetic energy

I. a unit equal to one hundredth of a
meter

J. an energy expressed though
activity or movement

k. a unit equal to one thousand
grams

l. an energy that is released through
a chemical reaction

m. a Sl base unit of thermodynamic
temperature, equal in magnitude to
the degree Celsius

BBICTABJIIETCS
€CJI 3aJaHKe He
BBITIOJIHEHO B
OTBEECHHBIHN
CPOK UJIH
pe3ynbTar He
COOTBETCTBYET
3aIaHHIO

AyaupoBaHue

TectupoBanue

Listening and taking notes.
Complete the gaps in the lecture
notes that you have already made.
Many of you seem to think that a
research is something ... in their
laboratories. Nothing can be ... the
truth. Actually, research is part of
everybody’s life ever ... born.
What does a baby do during the ...?
The baby starts feeling the world
and ... information. What does an
adult do when ... environment?
Again, the person immediately
shows an ... which is nothing else
but a true research. What does a ...
do to help justice in case of a
criminal offense? An investigator
... and this is yet another example
of research. What does a doctor ...
in treating a patient? | see that you
... to understand. A doctor ... of
the patient and this is also a
research. In other words, a research
isany ... in order to ... in the
human knowledge. Scientific

Oyenka:
3a4TEHO
Onucanue
xapaxmepucmux
U 8bINOJIHEHUS
snanus: OLeHkKa
"3ayTeHO"
BBICTABJIAETCS
€cJIv 3aJjaHKe
BBINIOJIHEHO
MPABWIILHO WIIH
c
HE3HAYNTEILHBI
MM HEJOUYETaMU.

Oyenka: He
3a4TEHO
Onucanue
Xapakmepucmux
U 8bINOJIHEHUS
3uanus: OLeHKa
"He 3auTeHo"
BBICTABIIIETCS
€CJI 3aJjaHKe He
BBIIIOJIHEHO B
OTBEJECHHBIN
CPOK HITH
pe3yJIbTaT He
COOTBETCTBYET
3aIaHUIO




research is .... It involves ... in

order to answer a research question.

The difference is that scientific
research is ... but organized. It is a
... collection of information. It
involves .... It means ... in a well
... way. It is followed by the ...
results. And, finally, scientific

I'pammaruka TectupoBanue Complete the sentences with the Oyenxa:
TEXHUYECKOIO correct forms of the verbs given in | sagreno
TEKCTa the brackets Onucanue
1.He's made a deal. He .... (to xapaxmepucmux
purchase) the appropriate U GbIOTHERUA
. . sHanus: OleHKa
equipment during the next month. MaauTeHo"
2.The work .... (to finish) BBICTABJISETCS
yesterday. ecIi 3a71aHue
3.1 .... (to process) the experimental | BbiOIHEHO
data, when the operating system gpaB“m’Ho i
suddenly crashed. . HeSHAYHTTBHLL
4.So far, only two buildings ...... MH HEIOUETAMIL,
(to -
YEeHKa. HE
construct). SAUTCHO
Onucanue
5.During the exothermal chemical | xapaxmepucmux
reaction some heat ...... (to release). | u svinonrenus
sHanus: OleHKa
"He 3auTeHo"
BBICTABJIACTCS
€CJIM 3aJaHUC HE
BBIIIOJIHEHO B
OTBEIECHHBIH
CPOK HJIn
pe3yabTar He
COOTBETCTBYCT
3a1aHUIO
IlepeBonuecku | TectupoBanue Onpedenume 6uo nekcuuecKkoil Oyenxa:
€ mpancgopmayuu 3aYTEHO
TpaHcdopmaru (mpanckpubduposanue, Onucanue
" mpancaumepayus) Bite, Jose, Xapaxmepucmux

Liang, screen, Michigan, frame,
Ihab Hassan, menu, Texas, site,
contrabandist, Cliff Griffits, lady,
Illinois, speaker, constructivism,
know-how, Kentucky,
impeachment, chip, Bank of
London, provider, script, Bataille —
Baraii, club.

U 6bINOJIHEeHUS
snanus: OLeHkKa
"3agTeHO"
BEICTaBJIIETCS
€CJIM 3aJJaHue
BBITTOJTHEHO
MPaBUJIbHO WIIH
c
HE3HAYNTEIHHBI
MH HEIOYETAMHU.

Ouyenka: He
3a4TEHO
Onucanue
Xapaxmepucmux
U GLINOJIHEHUS




suanus.: OLeHKa
"He 3a4TeHo"
BBICTABIIIETCS
€ClIM 3aJjaHue He
BBIIIOJIHEHO B

OTBEICHHBIN
CpOK WIH
pe3yibTar He
COOTBECTCTBYCT
3aJaHUIO
AHHOTUpOBaHU | TecTupoBaHue B kasxcoom npeonorcenuu Oyena:
e, Hatioume 00HO Cl1060 3a4TEHO
pedepupoBaHu (cnosocouemanue), Komopoe Onucanue
€, IOATOTOBKA ynompeoieHo HenpaguaIbHo. Xapakmepucmux
crareit 1. This paper outlines / proposes / ZHZZZS””OezggKa
describes / discovers / presents a MaauTero"
new approach to... BBICTABIISETCA
2. This paper validates / examines / | eciu 3aganne
seeks to address / focuses on / BBIIOJHCHO
discusses / investigates how to Z‘paB“ﬂ"Ho o
SO IVe " . ; HE3HAYUTCIbHBI
3. This paper is an overview of /@ | yu negoueramn.
review of / areporton/a 0 ,

.. - YEeHKa. HE
preliminary attempt how bilinguals | . ¢ eno
separate the two languages while Onucanue
talking. Xapakmepucmux
4. The aim of our work is to further | ¥ svinonnenus
/ extend / widen / broaden / amplify 3?;’2?;2{?“3
current knowledge of... BBICTABIISICTCS

€CJIM 3aJaHUC HE
BBIITIOJIHEHO B
OTBEIECHHBIH
CPOK HUJIn
pe3ysbTaT He
COOTBETCTBYCT
3aJaHUIO
Vuactue B WuauBuayansH Presentation Oyenxa:
KOH(EPEHIIMH | bl TPOCKT 1.In this activity, you and your 329TEHO
partner will interpret a graph or Onucanue
table for the entire class. Xapaxmepucmuk

2.Prepare an interpretation of the
graph or table using Worksheet 3 or
Worksheet 4. Take turns explaining
it to each other using your notes. Be
sure your presentation is equally
divided between you and your
partner.

3.When it is time for you and your
partner to give your presentation,
both of you will go to the front of
the class. Each of you will present
your section in turn.

4.Answer any questions your

U GLINOJIHEHUS
suanus. OLeHKa
"3auTeHo"
BBICTaBIIIETCS
€clId 3aJaHKe
BBIIIOJIHEHO
MIPAaBHIIBHO WU
c
HE3HAYUTEIHHEI
MU HEAOYETAMHU.

Ouyenka: He
3a4TEHO
Onucanue
Xapakmepucmux
U BbINOIHEHUS.




classmates may ask.

suanus.: OLeHKa
"He 3a4TeHo"
BBICTaBIIIETCS
€CJI 3aJaHKe He
BBIIIOJIHEHO B
OTBEJCHHBIN
CPOK HITH
pe3yabTatT He
COOTBETCTBYET
3aJaHUIO

IIpome:kyTOoUHAas aTTeCTANMS
[TpomMexyTodHas aTTecTanus Mo MPorpaMMe MpOBOAMUTCS B (hopMe 3adyeTa, HK3aMEHa
WIM OTYETa O CTAXXUPOBKE B COOTBETCTBUU C YUYEOHBIM IUIAHOM. XapaKTEpUCTHKA 3aJaHUN
npeacTaBieHa B Tao. 2.

Tabauua 2

XapaKTepI/ICTI/IKa 3aJaHuM HpOMe)KYTOqHOﬁ aTTcCTaluu

HanmenoBanue [Ipumep 3ananus Kpurepuu onenku
JUCLIUILINHBI
(Motyis)
Anrnmiickuii s3slk | He npegycmotpeno He npenycmotpeno
JUIS

aKaJeMHYECKUX U
Hay4HBIX LEJIeH
U1 CIIEUAJIACTOB
B 00J1acTH
MH(POPMALMOHHBIX
TEXHOJIOTUH U
aBTOMaTH3anuu 1
qacTb (CpeaHuit
YPOBEHD)

Hrorosas arrecranus
Htorosasi arrectanysi Mo NporpaMMmMe HpPOBOIUTCA B (OpME umoz08020 3auema.
XapakTepucTUKa 3aJlaHuil mpejcTaBieHa B Tal. 3.

Tabmuma 3

XapakTepruCTHKA 3aJaHU UTOTOBOW aTTeCTalluU

Bun koHTpOIS

Kpatkas xapakrepuctuka 3agaHus

Kpurepun onenkn

HNrorosas
aTTecTanusg

Ilpumenume anzopumm umenusn
AHZTIUTICKO020 NPEOI0NHCEHUA K
CEOYIOUUM NPEONOIHCEHUAM U
omeemuvme Ha 60NPOCHl, OAHHbLE
noce IMux npeonoIHcenuil.

1. To meet such demands in
practice, scientists and engineers
must work hard as it is clear that a lot

Ouyenka: 3a4T€HO

Onucanue xapaxmepucmuxu
evinoanenus: 3Hanus: OUeHKH
«3aUYTCHOY 3aCITy)KUBACT
CIIyIIaTelb, 00HAPY KUBIIHIA
BCECTOPOHHEE, CHCTEMAaTHIECKOE
Y TIIyOOKO€E 3HaHUE YIeOHOTO H
HOpPMATHBHOTO MaTepuala,
YMEFOIIHH CBOOOTHO BBIITOJHSATH
3aJlaHus, TIPETYCMOTPEHHEIE
NIPOrPAMMOM.




of difficulties are to be encountered
on rout.

2. The development of the
thyristor, which is the
semi—conductor counterpart of the
thyratron, and its availability in high-
power ratings have given a new boost
to static methods of variable-
frequency a.c. generation and many
of the earlier circuits have been
revived and improved.

3. Turn-off or commutation, as
it is called, can only be achieved by
interrupting the anode current of the
thyratron or thyristor.

4, This is not possible with a
simple rectifier connect—ion and
additional circuity is required which
adds to the cost and complexity of
the system.

5. Bearing in mind the inherent
difficulties of the subject already
referred to, and the inevitable
additional difficulties arising from
multiple authorship, the book as a
whole is successful in achieving its
purpose, which is to bring together
the most important basic facts and
theories of adhesion and related
phenomena.

1. CkonbKO NpeyIoxKEHUN BXOJUT B
COCTaB KaX/10T0 TPEJIOKEHUS?

2. Ompenenure Tpymniry
MOJUIEXKAIETO B KAKIOM
npemiokeHuH. CKOJIBKO CIIOB
BXOJIUT B €€ cocTaB?

3. Onpenenure rpymniy cka3yemMoro B
KaXI0M IpeasoxkeHnu. CKOIbKO
CJIOB BXOJIUT B €€ COCTaB?

Read the sentence pairs. Choose
which word or phrase best fits each
blank.

1. inch/pound

a. The sandwich weighed almost a(n)

b. The coin is about a(n)
inch in diameter.
2. gram/ degree
a. The paperclip weighed about one
b. The temperature cooled one
over ten minutes.
3. friction / energy

Oyenka: He 3a9TCHO

Onucanue xapaxmepucmuxu
svinoanenus snanua: OTCHKa «HE
3a9TCHO» BBICTABIIICTCS
CITynIaTesnto, 0OHapyKUBIIEMY
po0eITbl B 3HAHUAX OCHOBHOT'O
yueOHOro MaTepuaa,
JIOIYCKAIOLIEeMy MPUHINIHATbHBIC
OLIMOKH B BBITIOJIHEHUHT
MIPEAYCMOTPEHHBIX IIPOrpaMMoin
3a/1aHul.




a. According to the laws of physics,
it is impossible to destroy

b. Ice is slippery because it does not
cause much

4. transfers / releases

a. An explosion usually

large amount of energy into the
surrounding area.

b. Astove heat from the burner to
the pot.

Bul yenviumume 6 evickazvieanuil.
Yemanoeume coomeemcmeue
MedHcOy BbICKA3LIGAHUAMU KANCO020
2oeopauiezo A—F u
ymeepicoeHuAmMu, OAHHbIMU 8
cnucke 1-7. Hcnonwv3yiime xaxcooe
ymeepacoenue, 0003HaueHHOe
coomeemcmayrouiell yuppoii,
mobKo 00un pas. B 3a0anuu ecmo
00HO tuuiHee ymeepiicoenue. Bol
ycavliiume 3anuch 06ai)3cobl.
3anecume ceou omeemaol

6 maonuuyy.

1.Knowing German offers you more
career opportunities.

2.German isn’t as difficult as you
may think.

3.You can’t learn the German
language quickly.

4 Writers, philosophers and scientists
need to learn German.

5.Ilearn German because I'm
attracted by the culture.

6.Some unique academic books exist
only in German.

7.German is almost an impossible
language to learn.

l'oBopsmuit A

Complete the sentences with the
correct forms of the verbs given in
the brackets

1. The computer engineer ....
currently .... (to investigate) the
software and hardware market.

2. All matter.... (to make) of
atoms, and atoms.... (to compose) of
smaller particles.

3. I .... (to master) differential
calculus by the fourth year at




university.

4, The fact ...... (to mention)
several times

before.

5. While instruments .... (to

choose), measuring range and
accuracy rating are taken into
account.

Onpeoenume 6uodbl KOMHIEKCHBIX
mpancgopmayuii
(anmonumuyeckuil nepeeoo,
IKCHIAUKAUUA, KOMHEHCAUUS).

1. Societal marketing — mapkeTuHr ¢
YUETOM JIOJTOCPOYHBIX HHTEPECOB
o0111eCcTBa B 11€710M, OTBEYAIOLMI
WHTEpecaM BCEero OOIIeCTBa.

2. Nothing changed in my home
town. — Bce ocTanocs IpeKHUM B
MoeM poxHoM ropoze. 3. Landslide —
ro0e/a Ha BEIOOpAaX MMOAABISIONINM
OOJIBITMHCTBOM T'OJIOCOB.

4. 1t cost him damn near 4000 bucks.
He's got a lot of dough, now. -
Brimoxun 3a Hee uyTh i He 4000.
Hener y Hero tenepp Kyya.

5. Candle Auction — stot Bua
AyKIIMOHA 3aKJII0YaeTCsl B TOM, YTO
IponuccC Ha3HAYCHHUA CHBI Ha
KaKOW-THO00 0OBEKT MPOIOIKACTCS
IIOKa roput CBcYa, O6LI‘IHO O4YCHb
KOPOTKasl.

6. | am nothing to you — not so much
as them slippers. — I nus Bac muuTo,
XYKe BOT 3TUX Ty(QUIeH.

7. Out-of-the-way places — mecTa,
TJIe peJIKO OBIBAIOT;

Ilpoananuzupyiime annomayuu K
cmamoam no eauieil
cneyuansiocmu. Onpedenume ux
6UO: unopmamuenan uiu
onucameyibHasl.

1. Kako¥ TvIr aHHOTAIUH:
CTPYKTYpUpPOBaHHAS HITH
HECTPYKTypHUpOBaHHas?

2. Kakwue pasmensl HUX
MpEeACTaBICHbI?

3. Kakue kiuIe uCoab3y0TCs IS
(hopMyYITUPOBKH TIENI CTATHH U €€
BKIamga?

Hanmmmre aHHOTALMIO K CBOCH
CTaThe.

CocTaBbTe CIIMCOK KIIFOUYEBBIX CJIOB K
CBOCH CTaThe.

Speak on for the topic ‘Dynamic




Programming’, use the texts Ex.6
unit 14, 15 and 14 from
Supplementary Reading, try to find
further information on the topic.
Include:

- the essence of dynamic
programming

- some peculiarities of using
dynamic programming in control
system design

- the importance of dynamic
programming for description of
changing situations.

Try to answer the questions:

6. What kind of situations is
dynamic programming applied to in
general?

7. Why is dynamic
programming not so obvious as it
seems at first?

8. What features of dynamic
programming can be used in control
system design?

9. Why is Kalman’s approach
important in the theory of control?
10.  What kind of situation is
algebraic approach directed towards?
11.  What technique offers a
forecasting treatment useful in
changing situations?

He3aBucumasi oneHka kauecTsa 00y4eHHs

HeszaBucumas olieHKa KauecTBa 00y4eHUs MpeArnoiaraeT BHYTPEHHUHN ayuT
nporpamMMm JI1O u aHKeTHpOBaHUE CiTyIIaTene u/unu paboroaaresneil mo Bornpocam
YJOBJIETBOPEHHOCTH MPOLIECCOM U pe3yJbTaTaMu 00yUYeHHSI.

YueOHO-MeTOAMYECKOE H I/IH(l)OpMaIII/IOHﬂoe o0ecreuenue

a) mutepatypa HTb MOU:

1. IlerpoBa, U. B. Aurnuiickuii s3bik: MHpOpMaTHKa U BBIYMCIUTEIbHAS TEXHHKA.
Cuctembl aBTOMAaTHYECKOTO yrpasiieHus: [B 2-x 4.]. Y. 1 : yueOHOe mocoOue 1o Kypcy
"AHrauiickuii s3pIK" U1 cTyaeHToB Maructpatypsl / M. B. Ilerposa, FO. H. Bummnskosa, H.
A. Bacunpera, Ham. uccnen. yu-t "MOU" (HUY"MDU"). — Mocksa : U3a-8o MOU, 2021. —
168 c. — ISBN 978-5-7046-2440-0.
http://elib.mpei.ru/elib/view.php?id=11522;

2. IlerpoBa, 1. B. TexHuueckuil mepeBoja sl WHKEHEPOB U HCCIENOBATENIEH :
yueOHoe mocobue mo Kypcy "AHrmuickuid s3bIK" IS CTYAEHTOB MAarucTpaTypel U
acupaHToB TexHuueckux yHuBepcutetoB / M. B. Ilerpoma, Ham. uccnen. ya-t "MD"
(HUY"MBHU"). — M. : U3a-80 MDMH, 2018. — 108 c. — ISBN 978-5-7046-2107-2.
http://elib.mpei.ru/elib/view.php?id=10650.




6) nmurepatypa ObC u B/I;

1. Aakopa T. @.- "Business Grammar Supplement to Market Leader Intermediate™,

NznarensctBo: "['ocynapcTBennsiii yauepeuteT «JlyoHa»", lyoHa, 2017 - (48 c.)
https://e.lanbook.com/book/196883.

B) ucnosb3yembie DbC:

1. Hayunas snexTpoHHas 6nbianoTexa
https://elibrary.ru/;

2. OBC Jlann
https://e.lanbook.com/;

3. OBC "YHuBepcuterckas OubnmmuoTexa onnaiie"
http://biblioclub.ru/index.php?page=main_ub_red;

4. Dnexktponnas 6ubmuoreka MOU (36 MDOI)
http://elib.mpei.ru/login.php.

MognucaHo anekTpoHHoi nognuckio ®r6OY BO «HUY «M3aU» MI/I
CeesieHun o Bnagensue U3N M3aK OpGJII:?IHa
PyKOBOHHTeJH) Bragene, OpenbsHa Ypcya M.A.
OAIIO, LIIIT YBO Waermnbnkatop  Rbdeb1209-OrelyanaursMi-e22f7ed Ypceya
MoanucaHo 3NeKTPOHHON nognuckio $TEOY BO «HUY «M3W»
CeeaeHua o Bnagenble L3N M3K H.H'
Bnageney, Cenvsepctos H. M.
Havaneauk OI10 Waenmvgmiatop  RF19596d9-SeliverstovND-39ee0b 7 CCJII/IBepCTOB




